Subscript and superscript positions are based on the free space available from the reduced fontsize. The [image: image1.png]Ascent
~80%
Baseline

Descent ~20%




default reduction to a 58% fontsize means that 42% of the height can now be used for raising or lowering the character. A font normally has 20% reserved for the parts that drop below the baseline, leaving 80% of the ascent above the "writing line". That information leads to a default superscript raising by 33% (42% free space * 80%) and the subscript using the remaining 8%.

Therefore, the default subscript was changed from 33% back to 8%. The default superscript has always been correct at 33%.
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mpress Textboxes that "AutoFit text" miscalculated the positioning, typically leading to only raising it half as much as it ought to. Users may have entered exaggerated percentages in order to make it look good. Those old presentations will need to reset superscripts/subscripts back to normal values, now that the bug has been fixed.

The calculation for determining automatic positioning was also fixed for Textboxes. Before, it used the entire 42% to both raise and lower - which was way too much. Now it uses 80% and 20% respectively.

